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gDUCATION
PAPER - II

ot tions of t
Note : This paper contains hundred (100) objective type quest

; Isory.
cach. All questions are compy y

wo (2) marks

1. The characteristics of pragmatism are as follows :

~" (@) The universe is natural creation,_~"

(b) Values are static. .

() Learning by doing is given importancq/ -

(d) Teacher’s role is important. - e _
Identify the correct statements using the codes given below :

Codes: (a) (b) (c) (d)
(A) False True False True
(/B)/ True False True False
(C) False False - False True
(D) False True True True

2. . Given below are two staternn’ents. One is Assertion (A) and the other is
~Reason (R). Select the correct code from the given answer codes :

~ Assertion (A) : Adolescence is a period of storm and stress..~
Reason (R) : There is intensity in the expression of emotions coupled with
absence of consistency.

Codes : : :
(A) Both A and R are true, but R is not the correct explanation of A

(B) Both A and R are true, but R is the correct explanation of A
(C) A is correct but R is false '
(D) A is false but R is true =~

3. hich of the following sets of statements are correct in the context of
guidance ? : )
/ Guidance is a personal help.
\/2./ Guidance leads to self-regulation.
\}/ Guidance focuses on problems, rather than on' individual.
4. Guidance considers individual differences as a basic starting point.
S. Guidance service can be organised with various time lags.
6. Guidance is panacea for all ills.
Codes :
(A) 1,2 and 3
(B) 3,4 and 5
(C) 2,4 and 5
(D) 1,2 and 4
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4. ,Given below are two statements. Qpe is Assertion (Ass) and the other is
Reason (R):

Assertion (‘Ass) : “A profession is g vocation founded upon specialized
educational training. ...”

Reason (R) : If teacher education is to become a truly professional enterprise

fundamental changes are needed in the way teachers, colleges and
departments of education operate. :

Select the correct code from the given answer codes :
Codes : \

(A) Both (Ass) and (R) are incorrect

(B) (Ass) is correct but (R) is incorrect

(C) (Ass) is incorrect and (R) is correct

(D) Both (Ass) and (R) are correct but (R) is not the proper explanation
of (Ass)

5. The scope of curriculum are as follows :
(a) Deve‘lopment of personality
(b). Development of knowledge, attitude and skills_~"
(c) Realization of educational objectives "
(d) Organizing teaching-learning situation .
Identify the correct statements using the codes below :

Codes : (a) ) (b) (c) (d)
(A) True False True False
(B) True False False False
(&g False True True True
(D) True True False False

6. Given below are two statements. One is Assertion (Ass) and the other is
"Reason (R). :
Assertion (A) : The research hypothesis, being the alternative hypothesis

(H,) has to be kept in the domain of acceptability.

Reason (R) : The null hypothesis (Ho) has been rejected at high alpha
(significance) level, thereby rendering the possibility of Type 1 error
quite insubstantial.

Select the correct code from the codes given below :

Codes : | .

(A) Both A and R are true and R is the correct explanatxon' of A )
(B) Both A and R are true but R is not the correct explanation of
(C) A is true but R is false

(D) A is false but R is true p.T.O-
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7. Critically judge the following and select the correct answer using the code
sing- S

given below :

they interact in the classroom,
Reason (R) : It tries to.categorize al] the sets ' ‘ i

i EPSEE aith s fudents. of .pO.SSIb]C behaviours ‘while
Codes :
(A) (Ass) is true, but (R) is wrong
(B) (Ass) is wrong, but (R) is correct
C) Both (Ass 4 -
((D; Both ((A:s)) an: (g) "~ "on8 and (R) does not support (Ass)

and (R) are correct and (R) supports the (Ass)

8. Given below are two statements—orie is A'ssertion (Ass) and the other is

Reason (R):

Assertion ‘(A_ss) : ICT in education is the mode of education that uses
1nf9rn_1at10n and communication technology to support, enhance and
optimise the delivery of information. |

Reason (R) : ICT enhances the modes of communication, —
Select the correct code from the codes given below : et

Codes :
y/ Both (Ass) and (R) are correct
(B) Both (Ass) and (R) are wrong

(C) (Ass) is correct, but (R) is wrong
(D) (Ass) is wrong, but (R) is correct

principles of scientific management are as follows:

9.
(a) It gives stress on co-operation not individualism. |
(b) One of the main principles of scientific management 1s harmony, not
. discord. o P
(c) It gives emphasis on maximum production 1n place of restric
production. . -
(d) Division of responsibility between management and workers is uneq
ldentify the correct statements using the codes below : .
Codes : (a) (b) (c) (d)
(A) False False True True
(B) True False False - True
S True True True False
) False False ' False True
Paper-11 / EDU a
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10. The goal of an inclusive classroom ig

(@) to allow normal students to reach their potential

(b) to allow only blind students to reach their potential

(c) to allow physically challenged students to reach their potential g
(d) to allow each student to reach his/her potential

Identify the correct statement from the above Using the codes given below :

Codes: (a)

(A)- False
(By” False
C) True
(D) False

(c) deliberately

Select the correct code from t

Codes : (a)

(A) True

(B) False
(C) False
(D) False

(b)

True
False
"False
False

11. The family imparts education to the child
~"(a) formally

(b)

False
True
False
True

12. In the following two sets, (Set—l)' mentio'ns as apex level institu
/While (Set-1I) indicates their formal concerns :
Set-I '

(Level of Institution)

(a) University Grant Commission

(b) All India Council of Technical

Education

(c) National Council of Techrical

Education

(d) National Assessment and
Accreditation conncid

\ (V)

Match the two sets and

Codes : (a)
G
(B) (1)
(€) (v)
(D) (i)

pPaper-11 / EDU

(c) (d)

False False
False True
False : False
True False

he codes given below

informally

regularly

(c) - © (d)
False False
* False False
True False
False ~ False

Set-II

(Formal Concerns)
Adjudication of legal matters in
education '
Co-ordination, recognition and
quality issues related to teacher
educations '
Co-ordination and quality

' maintenance in institutions of
. higher education

Recognition and quality issues in
technical institutions
Evaluation of quality and
determining grade of excellence

give your answer from the code given below :

(iv)
(iii)

(©) (d)
(i), (v)

(iii) (iv)
(iii) (i}

(i) (iv)
p.T.O.
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13, The following statements arc

Y ()

(b)

(c)

— L AR

either ‘true’ or ‘false’:
of specific factor of intelligence.

Mental age is the measure | |
t as the child grows older th,

Standford Binet test results indicated tha
mental ability increases:

Mental ages are a type of norm. .
The relation between intelligence and creativity is curvilinear.

d
il}ioose the correct statement/statements from the codes given below :
Codes: (a) (b) (c) (d)
(A) True False | False True
'{3) False | True True False
© Tr'ue True - False False
.(D) . False False True True

14. UGC was established on
\/ (A) 26th January, 1948 in New Delhi
(B) 5th August, 1956 in Maharashtra

(C) -28th December, 1953 in New Delhi-

(D)

Sth September, 1964 in New Delhi

1\5./Wl'f‘at are the components of Tyler’s model of curriculum ?
@)

(B)
()
(D)

Purpose, Educational experiences, Effective organisation of experiences,
Verification of a goal ' ' ,

Aims, Subject content, Teaching, Evaluation
Aims of education, Organisation of content, Testing, Feedback

Subject content, Teaching, Learning, Testing

Ction research is ordinarily concerned with

o
(A) general nature

(B) having long-range implication

(C)/ immediate concerns
) constituting universal truths
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17. Match the items of Set-1 with that of Set-11 in respect of the evaluation system.
o Set-1 Set-II

(@) Formative Evaluation (i) Evaluating cognitive and

co-cognitive aspects with
regularity

(i) Testand their interpretation based
on a group and certain yardsticks

(b) Summative evaluation
\

(c) Continuum and comprehensive

iii) Grading the final learning
evaluation

outcomes
(d) Norm and criteria referenced
Choose the correét code :

Codes: () " (b) () (d)
B W (i) () (i)
B) (@ (i) () (iv
(€) (ii1) (iv) (11) ()

(1_3) (1) (i) (iv) (i)

(iv) Quizzes and tests

18. Following statements are either ‘True’ or ‘False’:

\/a) Three activities of a teacher in concept attainment activity are to.record,
~ prompt and present additional data.

(b) Concept attainment model enhances higher order thinking.
(c) Conceptattainment model allows students to brainstorm aloud together.

(d) During concept attainment activity, students give examples of
applications of the learned concept.

Choose the correct answer from the codes given below :

Codes : (@) (b) (c) (d)
(A) True True - True - True
(B) False False False False
(C) “True False True False
(D) False True False True

19. Leadership today is increasingly associated with the concept of

/ (A) getting others to follow
(B) command
(C) control
(D) strategy o

Paper-11 / EDU
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( one is Agsertion (As9) and the other i

. G - - :

20 (\li\'(‘l] l ~ 1 0 'ﬁlilt(‘ln(‘” b
. elow are (wo ¢

are often overlooked in

vith disahbilitics

< Reason (R):
Assertion (Ass) ! Cl?i!dl.c?hc\ir access in education.
olicymaking, limiting "y he most likely to b,
R . ;1)2) Wotldwidc these children arc among 1 Y 10 be
eason : ;
out of school. ] X
: ven below:
Select the correct answer from the codes gl
Codes :

(A) Both (Ass) and (R) are¢ incorrect
(B) Both (Ass) and (R) are correct
(C) (Ass) is correct but (R) is incorrect

(D) (Ass) is incorrect but (R) is correct |
he universe as consisting of two

21. Which school of philosdphy regards t
realities——-consciousness and matter ?
(A) Sankhya
(B) Vedanta
(C) Buddhism
(D) Jainism

22, Critically judge the following and select the correct answer from the codes

given below :
Assertion (Ass) : Education has been regarded as the main agent for the

political socialization of the young into the national political culture.
Reason (R) : Education is the primary agent for the selection and training
of political elites. 4
Codes : _
- (A) (Ass) is correct and (R) is wrong
(B) (Ass) is wrong but (R) is correct
C) Bot ;
(C) (AZ sl; (Ass) and (R) are correct and (R) is the proper explanation of
(D) Both (Ass) and (R) are wrong

23. Defence mechanisms are useq by the
(A) ‘ego’ of a person knéwingly

[—

(B) ‘superego’ of a person knowingly
(C) ‘d’ of a person unknowing]y
(D) ‘ego’ of a person unknow; ngly
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4 1 of ll-u following is the most important factor underlying the success
of the beginner teacher?

(A) Personality and ability to relate to the class
(B) Attitudes and outlook on life

(C) Verbal facility and organizational ability

(D) Scholarship and intellectual ability

25. Which of the following correct order comes under Maslow’s hierarchy of
4 needs ?

(A) Self-actualisation, safety, love, estecm

(B) - Psychological need, self-actualisation, esteem, safety
(C) Psychological need, safety, love, esteem ‘
(D) Psychological need, esteem, self-actualisation, love

26. Two statcmeﬁts are given below—one is Assertion (Ass) and the other is
eason (R):
Assertion (Ass) : Grounded theory is better at determining what actually
happens.
Reason (R) : Grounded theory methods tend to produce large amount of
data, often difficult to manage.

Select the correct ansSwer from the codes given below:

Codes :

(A) (Ass) is not correct but (R) is correct

(B) (Ass) is correct but (R) is not correct

(C) Both (Ass) and (R) are correct but (R) is not the proper explanation of (Ass)
(D) Both (Ass) and (R) are correct and (R) is the proper explanation of (Ass)

27. Match the items of Set-I with that of Set-II in respect of the following terms
\/ choosing the correct codes :
‘ Set-I Set-II
(a) Learning goals (i) Brief statements that describe what
/ students will be expected to learn
(b) Learning objectives.f (ii) Express values that give a sense of direction

(c) Learning outcomes (iiij Express the development in case of
7 development of intellectual, verbal, motor

skills and attitudes

(d) Learning standard (iv) Identify what will be learned, energize
and motivate :
Codes: (a) ' (b) () - (d)
(A) (iii) T (i) (1) (iv)
(B) (1) (1) (i) (iv)
(C) (i) (i) (iii) ((i_\j)l
D v : 1 (ii}) -
\(/ S " i y P.T.O.
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28. What is the correct sequence ol SE constructivist model of instruction ?
= (A) Evaluate, Explore, Explain, Elaborate and Extend

(B) " Engage, Explore,-Explain, Extend and Evaluate

\(C) Explore, Engage, Extend, EXplain and Evaluate

(D) Explain, Engage, Elaborate, Evaluate and Extend

29. Match List-I with Lis-II and choose the correct match from the codes given

below :
Nt List-I List-IT
(2) Three-step model of change ()  Bill Smith
(b) SWOT analysis (i) William Deming
(c) Six sigma | (ili) Kurt Lewin
(d) Total quality management (iv) Albert Humphrey
Codes : (a) . (b) (c) (d)
@ (i (i) (i) (iv)
By o () () (i)
@< i) O .G (iv)

(D) (1v) (i1) (i) (i
y/inclusive education is important, because
(A) it improves health of the children
(B) it improves learning for all childreri/»
(C) it helps teacher in the classroom
(D). it is a good didactic apparatus

/ .
1. The statements below are either “True’ or False’:
(a)"‘Education and the significance of life’ is authored by J Krishnamurthy.

(b) Paulo Freire is known for his radical ideas about pedagogy, learning
and knowledge. :

(c) Savitribai Phule is regarded as the first female teacher and mother of
feminism in India. ' : A

(d) Nel Noddings is an American feminist, educator and philosopher.
Choose the correct statement from the codes given below :

Codes: (a) (b) (c) | (d)
(A) False False False False
(B) True False False True
(C)  True True False False
(D) True True True True
Paper-1I / EDU , | .
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32. Match List-1 wi i
¢ -1 witl —
below : 1 List-1I and choose the correct match from the codes given

</ List-1 List-II
(@) National Curriculum (ij recommended for academic
Framework (2009) freedom to teachers
(b) National Knowledge (i) suggested the scrapping of all higher
Commission (2007) education regulatory bodies and
creating of super regulator
iiij servesasa guidelines for syllabus,

textbooks and teaching practices in
" the school of India

(c) Yashpal Committee (2009)

(d)  Kothari Commission (iv) toenablethe development of a vibrant
(1964-65) , knowledge-based society
Codes : (a) . (b) (c) (d)

@ () (i) Q)
(B) (i) (1) (iv) (i)
(C) (1) (i) (iv) (1)
D) - (iv). i) [OR
33. The inquiry method . ) '

\/(a) tries to instill in the students to learn at their own pace, to focus on
mastering a competency rather than focusing on passing & COUrse, and

promotes life-long learning

(b) cmphasizeé reflective investigations and interesting findings in the
teaching and learning process A ’

(c) requiresa student to question the truth and accuracy of the information
obtained '

(d) also involves the process of reasoning

Identify the above statements using the codes given below :

Codes : (@) (b) « - (c) (d)
(A) False - ~ True - True True
(B) ~ True False False ~ True
(C) True True False False

) False True - False True

4. “The teacher is the most important element in any educational programme

This was stated by

() UGC |

(B) NCERT

(C) RCI” :

(D) NCTE , p.T.0:

11
paper-11 / EDU

G Scanned with OKEN Scanner



35.Which of the following lays the foundation for curriculum?
“ (A) Societal priorities, Government and Resources -
_(B)" Philosophy, Sociology and Psychology
(C) Study materials, Training facilities and Societal needs
(D) Psychological bases of education

36. Match List-I with List-1l and choose the correct match from the given codes

" List-I List-II
(a) Average of all the deviations (i)  Score deviation.
(b)  Semi-interquartile range (i) Standard deviation
(c) Difference between a score (1ii) Mean deviation

and mean of the distribution
(d) Root mean square deviation  (iv) Quartile deviation

Codes: (q) - (b @ (d)
(A) (i) (ii) (iv) (iii)
(B) (iv) (i) (iii) (i)
(€) (1) (iv) | (1) (i1)
oG i) 0 (i)
37. Below are gi\'re‘n} two sets—Set-I and Set-II :
Set-I Set-II
(a)' Self-directed learning (i) A process to store, retain and recall

information

(ii) A process by which one can learn
in his own pace

iij) A process by which a learner
becomes conscious in his learning process

iv) A process by which individuals take the
' initiative without the assistance of others

Match the two sets and select the correct answer using the codes given
below : . :
Codes : (@ (b) (¢ (d)
@ 0 (i) (iv) (i

. (B %9 (1ii) (11). )~
*’ﬁ}/ 1v) (1i) (1) (i)

(D) (1) () (i) 8}

(b) Reflective learning
(c) Programme learning

(d) Memory léarning

58. /W t:ich one of the following does not include‘ right Web 2.0 tools for teachers ?
.~ (A) Poll everywhere, Diigo, Animoto, Twitter and Dropbox

(B) Twitter, Dropbox, Diigo, Prezi andIConC(-eptboard

(©) Dropbox, Facebook, Prezi, Diigo and Animoto

(D) Conceptboard, Twitter, Dropbox, Animoto and Prezi

12
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39. The statements below are either “Trye’ or False
& (@) NAAC was established in 1994 55 an autonomous institution of UGC,
(b)  The Chairperson of UGC is the president of Executive Committee of
NAAC.
() The President of Executive Council of NAAC nominates the Chairperson
of General Council of NAAC.
(d) The Director is the academic and administrative head of NAAC.

Choose the correct statements from the codes given below :

Codes : (a) (b) (c) (d)
(A) True False False True
(B) False True True False
(€) True False True False
(D) False True False | True

40. Some of the recommendations of the NPE 1986 and the Programme of Action
relating to special education are

(a) making good road to school

(b) establishment of special schools .~

(c) establishment of vocational training centre

(d) training of teachers A

Identify the correct statement using the codes given below :

Codes : (a) (b) (c) (d)
(A False True . True True
B) - True False True True
(C) True True False False
(D) False True False True

41. Which of the following is related with the name of Nel Noddings ?

a) Social movement
(b) Social institution
(c) Social change

(d) Social disorder .
r from the codes given below ?

Select the correct answe

Codes : (a) " (b) (c)
(A) False False False
(B) False True False
(C) False False True
(D) True False False

paper-11 / EDU
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False
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T 2 rfC the important
42. Which Commission recommended NCER w. pcrr()rr-nqrch improving
N fnctions of conducting and promoting educational resce ) 4

' P [ » din S ?
educational techniques, practice and rescarch finding

(A) Kothari Commission (1964-60)

(B) Mudaliar Commission (1953)
(C) National Knowledge Commission (2007)

(D) National Commission on Teacher (1999)

43. Below are given two sets—Set-T and Set-II :

/ Set-I Set-II
(@) Directive (i)  Action-oriented approaCh
(b) Non-directive \\\ (i) Client-centred form of cognitive theory

(c) Rational emotive /" (iii) Permissive counselling

behaviour therapy

(d) Reality theory of iv) Counsellor-centred counselling

counselling
Match the two sets and select the correct answer using the codes given
below : ‘
Codes: (a) (b) — (c) (d)
(A) (i1) (1) (iv) (1)
(B) (ii) (i) (i1i) (iv)
(©) (i) (iv) (i) (i)

D) @) (i) (i) - ()
44. Given below are two statements—one is Assertion (Ass) and the other is
Reason (R):
‘ Assertion (Ass) : The quality of citizens depends not exclusively, but in
critical measure upon the quality of their education,

Reason (R) : The quality of education depends more than upon any single
factor, upon the quality of their teacher. '

Select the correct answer from the codes given below :
Codes :

(A) (Ass) is correct but (R) is incorrect

(B) (Ass) is incorrect but (R) is correct

(C) Both (Ass) and (R) are correct

(D) Both (Ass) and (R) are incorrect

Paper-II / EDU 14
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45. Whicl :
. 1 of the ' tara ; .
) he following factors affect curnculum change in our country?
~ } At S ArtieQ " P ‘ '
Ndll.()n(?l P! iorities, R(_llgl()Lls ﬂ[ﬁ“«'ltlon {]nd StﬂkChOldCf’f; needs and
aspirations
(B) Political concerns, Religious affijliation and Socio-cultural context

(C) National prioritics, Stakeholder’s needs and aspirations and Socio-
.~ cultural context
(D) Stakeholder’s needs, Religious affiliation and National priorities

46. Two statements are given below— one is Assertion (Ass) and the other is

/-fﬁeason (R):
.~ Assertion (Ass) : The basic principle of ANOVA is to test the differences
among the means of different population by examining the amount of
‘variati'on within each of these samples, relative 0 the amount of
variation between the samples.
Reason (R) : The value of a population mean can be inferrcd from a
randomly selected sample mean and can be estimated on a probability
~ basis.
Select the correct code from the codes given below:

Codes :
(A) Both (Ass) and (R] are correct but (R) is not the proper explanation

of (Ass)
(B) (Ass) is correct but (R) is incorrect
(C) Both (Ass) and (R) are correct and (R) is the proper explanation

of (Ass)
(D) (Ass) is not correct but (R) is correct

47. Examine the following two sta_tements—-Assertion (Ass) and Reason (R)

\/nd select the correct answer using the codes given below:
Assertion (Ass) : Competency—based assessment is the process of collecting
evidence and establishing conclusions on the character and scope of

the learner’s progress toward professional standard.
Reason (R) : Competéncy-bascd assessment is Vvery flexible, self-paced,
engaging, affordable and skilled-based. - '

Codes :
(A) (Ass) is false and (R) is truc
(B) Both (Ass) and (R) are truc but (R) does not support (Ass)
(C) Both (Ass) and (R) are false
(D) (Ass) is truc but (R) is_falsc

p.T.O-
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48. Which one of the following is 10t

(A)  Encourages collaboration
(B) Motivates learning

(C) Hinders subject learning

r Wy ! (: (
rue about the use of ICT N th

(D) Promotes higher-order thinking skills

~

49,
/" (a) Storage technology
(b) Communication technology
(c) Internet

(d) Barcode technology

Which one of the following is not the component of informati

Jassroom

on technology ?

Select the correct answer from the codes given below :

Codes: (a) (b)
(A) False False
(B) True False
(€) False False
(D) | False " False

(c)
False
False

False

True

(d)
True
False
True

False

S0. In legal terms, the child is blind if corrected vision in the better eye is

Identify- the correct statement using ‘the codes given below :

(a) 20/70

(b) 20/200

(c) 30/70

(d) 30/200

Codes : (a) (b)
(A) True False
(B) Fals¢ True
(C) False | False
(D) False False

Paper-II / EDU
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(©)
False
False
True

False

(d)
False
False
False

True
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51. Match the two ll.sls, 1.c., List-] “’ilh Ii‘;l—” and choose the correct mateh
from the codes given below y
L List-11
(@) Which can SCIve as the suitable example of (1) Home
the primary group

—

(b) Maximum cox.ltribution to the process of (i) Social control
socialization in general comes from ~
() Alevelin society made up of people similar (iii) Family
~ in certain respect is known as ™~
( d) Custom is an important T (iv) Social class
Codes: (@) (b) @ -«
@), (i) o) (iv) (i)
—(B) (i) (i) (iii) (iv)
©) (i) (i) (iv) (i1)
D) (v (i) (i) dop S}

52. Critically judge the following statements and select the correct answer
“using the codes given below : :

Assertion (Ass) : Microfinance enables financial self-reliance for individuals,
providing them with money and education.

Reason (R) : It is usually a continuous ongoing activity without any
defined end.

Codes :

(A) Both (Ass) and (R) are correct and (R) is the correct explanation of (Ass)

(B) Both (Ass) and (R) are correct and (R) is not the correct explanation of
(Ass) .

(C) Both (Ass) and (R) are incorrect

(D) (Ass) is incorrect, while (R) is correct

53. Match List-I with List-II and select the correct code from the codes given

\/&alow 2
List-1. List-1I

(a) Intelligence —— , 1. Alfred Binet .

(b) Attitude \*2. L. L. Thurstone

(c) Projective techniques 3. Rorschach

(d) Semantic differential 4. Osgood

Which of the following is the correct matching?

- Codes : (a) |b) (c) (d)

- (A) 4 3 2 1
(B) 2 4 3 1
(C) 3 2 1 4
(D) 1 2 3 4
p.T.O.
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o onscious
_ ” -h is the uncon
S4. According to psychoanalytic theory of personality whic

part of human mind ?

(A) Ego

(B) Id

(C) Superego

(D) Both ego and superego

\

55/._"Which one of the following is not correct about UGC?
~" (A) UGC became a statutory body in 1956

(B) UGC has a regional centre at Guwahati
(C) UGC finalises the curriculum of all programmes implemented by

universities
(D) UGC releases grants to universities

S6. Given'below are two statements—one is Assertion (Ass) and the other is

Reason (R): '
/Assertxon (Ass) : A research hypothesis need not be kept in the domaln

of acceptance.
Reason (R) : The null hypothesis rejected at high significance level renders

the possibility of type 1 error quite unsubstantial. .
Select the correct code from the given codes :
Codes :
(A) (Ass) is correct, but (R) is wrong
(B) (Ass) is wrong, but (R) is correct
(C) Both {Ass) and (R) are correct
(D) Both (Ass) and (R) are wrong

57. Match List-I with List-II and select the correct answer from the codes givén

below :

List-I List-II
(a) Achievementtest — 1. Predictive validity
(b) Aptitude test ———2. Content validity

(c) Personality test: 3. Construct validity

(d) Performance test 4. Concurrent validity
Codes : (a) (b) (c) ()
(A) 2 3 4 A
(B) 1 2 4 3
(C) - 2 1 3 4
(D) 4 2 3 1
18
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§8. Given below are two statements—one Jabelled as Assertion (Ass) and the
other labelled as Reason (R): _

™~ Assertion (Ass) : Information technology is fast becoming a very important
ficld of educational technology in India.

Reason (R) : Software is one of the major exports of India and further
India has a very strong base in hardware.

Critically judge and select the correct code from the codes given below:

Codes : _

(A) Both (Ass) and (R) are true and (R) is the correct explanation of (Ass)

(B)  Both (Ass) and (R) are true but (R) is not the correct explanation of (A)
M) (Ass) is true, but (R) is false

(D) (Ass) is false, but (R) is true
59. Given below are two statements—one is Assertion (Ass) and the other is

\/' Reason (R)::

Assertion (Ass) : Quality control in education must be an ongoing process.

Reason (R) : Meeting standards in onc year does not guarantee for future
performance.

Select the correct code from the given answer codes.
Codes : |

(A) (Ass) is not correct but (R) is correct

(B) (Ass) is correct but (R) is not correct -
(C) Both (Ass) and (R) are correct and (R) is the proper explanation of (Ass)
(D) Both (Ass) and (R) are false |

60. Match List-I with List-1I and select the correct answer from the codes given

\-/beIOW A
List-I

List-II
Year of Enactment Captions of the status
(@) 1987 1. PWD Act '
(b) 1992 " 2. The Mental Health Act
() 1995 — 3. RCI Act
(d) 1999 4. National Trust for Welfare of Persons
with Autism, Cerebral Palsy, Mental
L Retardation and Multiple Disabilities Act
Codes : (a) - (b) (c) (d)

Ay 2 3 ' 1 4
‘)(B) 4 2 5 1

(C) 3 1 2 4

(D) 1 3 4 2

‘ p.T.O-
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dther “True’ or ‘False N ‘
S1. The statements below are cith s well as the scarch for God,
h for self-knowledge as We s mibile ot
\ (d)  Vedanta is the seart . of the subtle :
N ) Ved hilosophy also incorporates the ¢
(b edanta philosophy ¢ Pre
‘as rana.
and spiritual energies of Prang
anta is a sust
() The ultimate goal of Vedanta is a

called Samadhi. . : anifest oy
L. alize and to m r
(d) Vedanta asserts that the goal of life is to realize

_ own divinity. ) low :
Choose the correct statement from the codes given below :

’ frc ‘f'f.'
ained state of pure awarcness

Codes: (q) . (b) (c) (d)
(A) False True ' True False
(B) False False False True
(C) False True True False
(D) True False False Trug

62. Which of the following has been given importance by National Curriculum
\/’/Framework 2005 regarding examination reforms ?

(A) Focussing on knowledge and comprehension domains of learning

(B) Implementing a common language for all examinations

(C) Confining the examination questions to syllabus contents only

(D) Making examinations more flexible and integrating them with
classroom life

63. Examine the following two statements—Assertion (Ass) and Reason (R)
and select the correct answer using the codes given below.:

Assertion (Ass) : Pleasure or displeasure resulting from a learning
experience decides the degree of its effectiveness

Reason (R) : All pleasant experiences have a lasting influence and are

Codes :

(A) Both (Ass) and (R) are correct and (R) is the correct explanation
for (Ass) ‘

(B) (Ass) is incorrect and (R) is correct
(C) Both (Ass) and (R) are incorrect

(D) Both (Ass) and (R) are correct and (R) is not the correct explanation
for (Ass) ‘

Paper-II / EDU 20
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In participatory teacher cducation’ madel
(Al the teachers need not know any skill of teaching

(B) teachers in training should play active role in the training process
(C) the teachers need rigorous training

(D) None of the above

6S. (j':i\'cn below are two statements—one is Assertion (Ass) and the other is
Reason (R):
Assertion (Ass) : Education and philosophy are interrelated as such
philosophy is an important basis of curriculum planning.
Reason (R) : Ross has said, “Education and Philosophy are two sides of
a coin.” :
Select the correct code from the codes given below:
Codes :
(A)” Both (Ass) and (R) are correct and (R) is the correct explanation
" of (Ass)
(B) Both (Ass) and (R) are correct, but (R) 1s not the correct explanation
of (Ass)
(C) (Ass) is correct, but (R) is wrong
(D) (Ass) is wrong, but (R) 1s correct
66. Match List-I with List-II and choose the correct match using the codes given

() Interval scale

below :
List-I List-II
(a) Nominal scale (i)  Superior performance in musical events

(b) Ordinal scale (i) Performance scores on a spelling test

(iii) Listing students according to participation in
co-curricular activities

Speed of students in writing words per minute

(d) Ratio scale (1v)
Codes: (a) (b) (c) @
i) U @
w0 (i) () )
© G U ‘fﬁ’ o
. (i) (iii) (1)
(B} ) P.T.O.

21
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67. Match Lis

below :

N List-I
(a) Organizing teaching in memory level (i)
(b) Theory of andragogy (i)

()
(d)

Codes :

68. The concept of ‘advanced or

L

(B)
©€)
(D)

(€)
(D)

Assessment of cognitive domain el
For self and peer evaluation

(a) (b) .

(ii) (iii)

(i) (11)

(iv) (iii)

(i1) (i)

(c)
i)
(iii)
()
(iv)

(A)
(B)

Ausubel_”
Bruner Ty
Kohlberg
Erikson

t
t-I with List-II and choose the correct match from

he codes give,,

List-1I
Malcolm Knowles
Herbartian model

(111] Rubrics
(iv) Anderson and Krathwoh]

(d)
(iv)
(iv)
(11)
(i)

ganise was developed by

69. ))Vhat is assimilation according to Jean Piaget ?

Flttmg new information into pre-existing cognitive schemes
Modification of pre-existing cognitive schemes

Rejection of new information and preserving pre-existing cognitive

A
(B)
(C)

(D)
70.

(a)
(b)

(c)

(d)

schemes
Developing new cognitive schemes

LlSt—l‘
Disorder affecting movement and posture

Disorder causing learning difficulty in fine /

motor skills

Disorder causing difficulty in making
arithmetic calculations

and letters

Codes : (a) (b) (c)
(A) (i) (iii) (i)
B - (iv) (i)

(i11)

Paper-1I / EDy
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(iv) -

Match List-I with List-II and choose the correct match usmg the codes given
below :

List-II
Dyspraxia
Dyslexia

()

i)

i) Cerebral palsy

e
Disorder causing difficulty in reading words

(iv) Dyscalculia
(d)

(1v) -

(iii)

(i)

(i) )
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71 In Marx’s theory, the mode of production means
(A) the way in which products are made in a factory
(B) the average measure of productivity under capitalism
(C) the organization of a society’s technical and human resources

(D) an integral part of a super-structure of a society

72. Structural functionalists describe society as-

\/ (A) a complex network of interaction at a micro level
(B) a source of conflicts, inequality alienation
(C) an unstable structure of social relations

(D) a normative framework of roles and institutions

73. Match List-I with List-1I and choose the correct match from the given codes :

\/ '4 List-1 , List-II
(a) Educational guidance (i) Thieves
(b) Vocational guidance (i) Class X students '
(c) Health guidance — (iii) College students
(d) Personal guidance ~ _ (iv) Senior citizens
Codes : (a) ' (b) (c). 2 (d)

(&) () (i) (1) e
(B) (iv) (111) i
(€) (i1) (1)
© ) (i)
, 74 Examine the two statements—As
and answer correctly using the codes.

Assertlon (Ass) : There have been
: teacher education programm

' {R) : NCTE acqmred sta’ 0!
ycument on teacher edu, tie
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owing is not correct relating to bases of

75. Which on¢ of the foll
development ?
(A) Phllowphlcal basis

(B) Psychologxcal basis
(C) Educational basis
(D) Sociological basis

76. What is not true about the validity of a test?

(A) Validity is a general quality of a test

ol (B) Validity is a matter of degree
(C) Validity refers to the interpretation to be made from the re

a test
(D) Validity is always specific to some partlcular use

7. nowledge and andragogy theory says that adult learners are differ:
children in many ways, including 4

(a) they need to know why they should learn somethlng/
(b) they are not self-directed and do not want to tak.e chargc of thcn‘

: | Jovirney - e

(c) they need no internal motivation .
(d) they want to know how lea
Answer correctly using thc cod
Codes : (a) A 1
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79. From which date the Persons with Disabilities Act, 1995 came into force

/

in India ?
\/mndla

(A) 1st January, 1996
(B) 7th February, 1996
(C) 1st April, 1996
(D) 7th May, 1996

80. Critically judge the following and select the correct answer using codes
\/gziven below :

Assertion (Ass) : Realists hold that truth of our life and the aim of life can
be developed from the present systematic life.

Reason (R) : Therefore, the greatness of human being is in his present life
and the aim of new realism is not in consistent with the facts of
common life and with the development in physical science.

Codes :

(A) Both (Ass) and (R) are true and (R) is the correct explanation of (Ass)
(B) (Ass) is true, but (R) is false

(C) (Ass) is false, but (R) is true

(D) Both (Ass) and (R) are false

81. Match List-I with List-II and select the correct code among the codes given

\/Below 2

List—l List-1I
(@) Memory level ' (i) Bigge and Hunt teaching model
(b) Understanding level (i) Herbartian model
(c) Reflective level (iii) ICF model
(d) Person with disabilities (iv) Morrison teaching model
Codes: (a) (b) (c) (d)

(A) (iv) (1) (iii) (i)

(B) (i) (iv) : (i i

9/ (iii) (11) (iv)

&) B (1) (i)
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below : R List-II
st- Ay :
g : d questions
ACHETT el SR (i)  Predetermine '
(a) Clinical intervi /i) Individual life experience

b) Focussed interviews .
((c)) Unstructured interviews /~(iii) Attention on the questions to

answered i
(d) Structured interviews (iv) Greater flexibility approach
Codes : (a) (b) (c) (d)
(A) (i) (1) (iv) o
(B (i) (iii)/ (iv) (i~

C) (111) (iv) (@) )
(D) (iv) (1) (i) (111)
83. Identify the pair of institutions which is not directly responSIble
profess1onal growth of education in India.
(A) NCERT and SCERT
(B) DIET and IASE
(C) NCTE and UGC
(D) CSIR and ICSSR

84. ich school of psychology has the assumption that we ar
blank state—a tabula rasa'P '

(A) . Psychoanalysis
(B) Constructivism
(C) Cognitivism

(D) Beha iourism -
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86. While developing an educational theory, which of the following will be the
- most logical order ?

(1) Notion of educated persons
(i) Pedagogical procedures
(1) Aims of education

(iv) Assumption about human nature

Codes: () (b) () @
(A) () (iv) (1) (1)
(B) (iv) W (iid) (i1)
© i (i) o
D) 0 (i) (iv) (i)

87. Who is called as father of scientific management ?

\// (A) Walter Shewart
(B) Edward Deming

9, F. W. Taylor
(D) Robert Owen

88. Examine the statements—Assertion (Ass,

answer correctly using th BS A8

Assertion (Ass) : Special
organizations.

AR Ll
- 3
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srtion (AsS)
89. Given below are two statement8=one labelled as Asser

other labelled as Reason (R):
Assertion (Ass) : An equitable society strives to
of opportunity in its members and also €X

e . will not be pe
Reason (R) : There are mutually exclusion and hence if wi

to attain both.

After reflecting on the two statements as abov
the following is correct:

Codes :

(A) Both (Ass) and (R) are true and (R) is the correct :

(B) Both (Ass) and (R) are true, but (R) is not the correct explana
of (A) - ‘

(C) (Ass) is true but (R) is false '

(D) (Ass) is false but (R) is true

- éﬁonal Curriculum Framework for Teacher Education in India (2009
developed by ; ;

: wards providing

cellence. on the be

e. decide as to which one
b

explanation of (;

(@ NCERT 2
: (b) NUEPA
. ()" NCTE
(d NAAC
Choose the correct answer from the codes given below :
Codes : (a) (b) (c) (d)
(A) False False | mmmkalse True
~ False False sdiriemy {  WFdlse

False False

QPG G . )
“False " False

(D) True

iiven below are two statements—one is Assertion (Ass) and the
eason (R). Select the correct code from the given codes: =

91.

‘teaching-learning process. : .
Reason (R) : Motivation clarifies the meaning of the goal and

ards the goal.
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?Vducational philosophy of Gandhiji ig

(A) naturalistic in its aims, pragmatic in settmg and idealistic in its
methods

(B) naturalistic in its methods, idealistic in its aims, and pragmatic in
iIts setting .

(©) realistic in its methods, idealistic in its setting, and programmatic
In its aims

(D)

naturalistic in its setting, idealistic in its aims and pragmatic in its
methods

93. Given below are two statements—one is Assertion (Ass) and the other is

\/ ‘Reason (R):

Assertion (Ass) :

All teaching implies learning.
Reason (R) :

: All useful learning are derived from teaching
Select the correct code from the given codes :

Codes : . 7
(A) (Ass) is correct, but (R) is wrong s
(B) (Ass) is wrong, but (R) is correct
(C) Both (Ass) and (R) are correct
(D) Both (Ass) and (R) are wrong

94, Match List-I with List-II and choose the correct match using "

/ “below :

List-1 ' .

(a) Allows teachers to ask questions to studen :
(b) Cloud-based student response s ste

() Interactive presentation tool
(d) Game-based leammgwplf
Codes: (a)
(A) il
B
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isation structures i .
o :xga:flfseit group behaviour more than individual behaviour

4 i i . hanges

" (B) change rapidly to meet enVlro-nm‘ental and market chang

(C) contribute positively to organisational performance

(D) can be defined simply as activities that occur regularly
97. Down syndrom is associated with
(A trisomy

(B) gene mutation

(C) recessive genes

(D) no chomosomal aberration

98. Who gave the CIPP model for curriculum

\%X) Ralph Tyler '
(B) Albert Oliver
(C) Hilda Taba OL'
(D) Stufflebeam /

99. Critically judge the follow
Reason (R) : - - .

: Assertion (Ass) : Coefficient of
‘ : positive. ‘ :
~ Reason (R) : Reliabili

~ Select, the correct answe

EY
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